Math 53 Quiz 3
February 8. 2017

This quiz will be graded out of 10 points, with individual questions weighted as (indicated). No
calculators. please! Please read the instructions carefully, and explain your work.

Problem 1. (3 points) Find the acute angle between the curves y = r* and y = r* — 6r + 6 at
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Problem 2. (3 points) Compute the cross product a x b for a = (1,2,3) and b = {(-5,0,2), and
show that a x b is orthogonal to both a and b.
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Problem 3. (4 points) Find the equation of the plane that contains the line L, passing through
points A = (3,1,1) and B = (-1,4,2), and which does not intersect with the line Ly passing
through points C' = (-2,-2,-1) and D = (-3, -2,0).
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